
Chapter 7 Section 7.1 Exploring Quadratic Relationships Quadratic Functions 

Assignment p. 181 #1 ʹ 5  Quiz Next Day! 

 
Name: _____________________________      Date: _____________ 
 
A quadratic relationship is one that has a degree of _____________. 
 
The ____________________ form of a quadratic function is _______________________________. 
 
The ͞basic͟ qƵadratic fƵnction is ݕ ൌ 𝑥ଶ .  Complete the table of values and then graph the function. 
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Example Consider  ݕ ൌ 𝑥ଶ ൅ 4𝑥 ൅ 3  .  
 

x From this form of the equation we know the 
 
 
 
 

x If we factor this equation, we will know the  
 
 
 
 
 
 
 
 

x We can find the vertex by 
 
 
 
 
 
 

x The axis of symmetry 
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We are going to use http://www.mathopenref.com/quadraticexplorer.html to explore quadratic 
functions.  
 

x What happens as 𝑎 changes? 
 

x What happens if 𝑎 ൌ 0 ? 
 

x What happens as 𝑏 changes? 
 

x What happens if 𝑏 ൌ 0? 
 

x What happens as 𝑐 changes? 
 

x What happens if 𝑐 ൌ 0  ? 
 

 
Example For the graphs below, predict whether 𝑎, 𝑏, 𝑐 are positive, negative or zero. 
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